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Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
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Differentiate between the following:
I.  Hydrophobic cement and expansive cement
ii. CsS and C,S
iii.  Fineness of cement and soundness of cement
i. Explain: Aggregate crushing value test.
ii. Why admixtures are used? What are its adverse effects when used in excess?

i Describe slump test.
it Explain Duff Abrams law of w/c ratio
What are the properties of fresh concrete? Define workability (at least in two
ways)? List the methods of measurement of workability.
OR
i What is curing? List different methods of curing.
il What is compaction of concrete? List different methods of compaction.

Enlist non-destructive tests and describe rebound hammer test.
i. Define:
1. Normal distribution curve
2. Standard deviation
3. Creep of concrete
4. Hardened concrete
ii. List names of authorities in the field of concrete technology.
OR
Describe the factors affecting durability of concrete. Also write the preventive
measures.
i What are the factors affecting compressive strength?
i List the journals related to concrete technology.

What is the need of special concrete? Enlist different special concretes and
describe anyone in brief.
Explain principal causes of cracks and remedial measures of it.
OR
i.  Give difference between ordinary concrete and special concrete.
ii.  Explain ready mix concrete.
Explain causes of corrosion of steel in concrete and suggest its preventive
measures.

Write short note on:

I. Split cylinder test for tensile strength of concrete

ii. Permeability of concrete
What are the objectives of mix design? Explain the factors influencing the
choice of mix design.
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OR
Q.5 (&) Write short note on: 07
I.  Flexural strength test of concrete beam
ii.  Fire resistance of concrete
(b) Design a concrete mix for M 20 grade concrete by IS method using following 07
data:
1) Maximum size of aggregate = 20mm
2) Water required for 1 m® concrete = 182 lit.
3) % fine aggregate in total aggregate =30%
4) wi/c ratio from graph = 0.55
5) wic ratio for durability requirement =0.45
6) Air content = 2%
7) Sp. gravity of cement, C.A. and F.A. = 3.15,2.80 and 2.65 respectively.
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